T E &= OKEMER) 2024448308 (X)

—-mmm

F<5 Y 5% )nxy7 0.4 ke 6,048 5,184 1,296
F<5 Xt ER 5| 'E"iﬁﬁ 0%y 7 1.5 1.6 kg 6,048 5,184 1,296
xF<A FE=HR5T 0.5 ke 6,048 5,184 1,296
nCE  HY5E ke
MCE HExERE] 0.1 kg 1,404
MCE  FE=HWRET ke
hoH Y5 =) 0.1 0.1 kg 648 594 486
MhoE  HExERE] (=) 0.1 0.2 kg 648 594 486
ME E=FHRET 0.1 kg 648 594 486
r1b Y5 ke
3vs ips ] ke

= H=HH/R5T kg

d



T E &= OKEMER) 2024448308 (X)

—mmmm

Y5k 2,160 1,620

i'd' FE*FES| 0.1 ke 2,160 1,620
E3X F=FMR5T 0.1 ke 2,160 1,620
Wbl HUY5E o4 0.1 0.3 ke 729 702 216
LWhL  HHxERE o 0.4 0.6 ke 729 702 216
Lol F=FWRE 0.2 ke 729 702 216
&L H#Y35E Rl o 0.1 02 kg 1,188 972 540
&L RSV E] R A H 0.3 04 kg 1,188 972 540
&L F=FMR5T 02 kg 1,188 972 540
s HY35E ¥ 0.1 0.1 ke 454 346
=IE FEXFER S| a¥F 0.4 0.3 ke 454 346

=IE F=FMR5T 0.2 ke 454 346

d



T E &= OKEMER) 2024448308 (X)

—mmmm

H#Y35E

é&i FE*FES| kg
SAFE E=ZEWRE ke

Y Y5k ) 0.3 ke

Y RSV E] X5 1.2 1.1 kg 1,026 918 864

Y F=FMR5T 05 kg 1,026 918 864
Ubéh HUYE o4 Lk 0.1 02 kg 2,160 1,080 432
U  HHXERE o4 Lk 0.2 02 kg 2,160 1,080 432
Ubth F=FHWRE 0.1 ke 2,160 1,080 432
My HYUE Lk o 0.1 0.1 ke 864 756 378
MAnly  FExFEE] & A H 0.1 0.1 ke 864 756 378

Mrnly  FE=HWRT 0.1 ke 864 756 378

d



FEH=E OKEDER)

202454 H308 (X)
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l\

#

=5
F3=Ybs
F3=lbs
F3=Ybs
(=1Lt
[Ef=1E7=
[X1=1&71=
=Ly
f=Ly
=Ly

Y5
FxERE]
FE=FMWRT
Y5
FHxERE|
FE=FMWRT
Y5
FxERE]
FE=FMWRT
Y5
FxERE]
FE=FMWRT

d

d

d

d

%ﬁ

0.1

0.1
0.1

0.1
0.1
0.1
0.1
0.1
0.1
0.1
0.1
0.1
0.1
0.1

1,728
1,728
1,728
864
864
864

918
918
918
281
281
281

1,220
1,220
1,220
102
702
702
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—-mmm

ITLA
ICLA
ICLA
P Lh
u RN AV
P Y Lh
EJAV)
EJAYA
EJAV:)
==

Y5
FxERE]
FE=FMWRT
Y5
FHxERE|
FE=FMWRT
Y5
FxERE]
FE=FMWRT
Y5
FxERE]
FE=FMWRT

d

d

d

d

0.1
0.1

0.1
0.1

0.2
0.2
0.1

0.1
0.1
0.1

2,484
2,484
2,484

1,836
1,836
1,836

1,944
1,944
1,944

1,512
1,512
1,512

648
648
648



FEH=E OKEDER)

202454 H308 (X)

—mmmm

SAEA
SAEA
SAEA
£ D fthfiE M
DR
D&
MRAV
MEAV
MEAY
AR
AR
FELD

Y5
FxERE]
FE=FMWRT
Y5
FHxERE|
FE=FMWRT
Y5
FxERE]
FE=FMWRT
Y5
FxERE]
FE=FMWRT

d

d

d

d

1IN %7

3.1
12.3

RE7Y7 0.3

XEF 0.3

0.1
0.1
0.1
2.0
0.1

0.5
0.4

0.7
0.3

3,240
3,240

2,700
2,700
2,700

2,160
2,160

540 432
486 324

864
810

302
270



T E &= OKEMER) 2024448308 (X)

—mmmm

AEMLIL HYFE

BEMUL HEXEREI hra TAUA 0.3 05 ke 1,188 810 432
FEMLL E=FERE 04 ke 1,134 75 270
TOfAE HY5E kg
TOfmE  FAXERE] 0.7 3.0 kg
FOMAE E=FRE 2.0 kg
BIET HYE ke
BT fAXERE] av7r dtiEE 0.3 03 ke 2,700 1,836 540
BT HF=FWSE 04 ke 2,700 1,836 540

F Y5 ke
T FE>xER S| T AUA : 0.1 0.2 kg 7560 3,780 2,376
i E=EFMR5T 0.2 kg 7560 3,780 2,376
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d



T E &= OKEMER) 2024448308 (X)

—-m

BIRF HYse
BIsR+  fExIERSI FAUA Ov7F 0.2 0.3 kg 3,780 2,376 1,296
BiR¥F E=HBWRSE 0.3 kg 3,780 2,376 1,296
FOMIGET HYE ke
FOMIET FExIEREI 12.4 79 ke 648 594 486

TOMIET FE=FHMRE 5.3 ke 648 594 486



	スライド 1
	スライド 2
	スライド 3
	スライド 4
	スライド 5
	スライド 6
	スライド 7
	スライド 8

